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1 8𝑛 − 7𝑛 + 6  
Let 𝑛 = 1     
then 8𝑛 − 7𝑛 + 6 
= 8 − 7 + 6  
= 7 𝑤ℎ𝑖𝑐ℎ 𝑖𝑠 𝑑𝑖𝑣 𝑏𝑦 7     
Assume true for 𝑛 = 𝑘 
Then 8𝑘 − 7𝑘 + 6 = 7𝑟  𝑓𝑜𝑟  𝑟 ∈ 𝑁     
∴   8𝑘 = 7𝑟 + 7𝑘 − 6    
Now 8𝑘+1 − 7(𝑘 + 1) + 6   

= 8 × 8𝑘 − 7𝑘 − 7 + 6    
= 8.8𝑘 − 7𝑘 − 1   
= 8(7𝑟 + 7𝑘 − 6) − 7𝑘 − 1    
= 56𝑟 + 56𝑘 − 48 − 7𝑘 − 1  
= 56𝑟 + 49𝑘 − 49     
= 7(8𝑟 + 7𝑘 − 7) 𝑤ℎ𝑖𝑐ℎ 𝑖𝑠 𝑑𝑖𝑣 𝑏𝑦 7   
 
Thus since the statement is true for 𝑛 = 1 and 
true for 𝑛 = 𝑘 + 1   if assumed true for 𝑛 =
𝑘, then it is true 𝑓𝑜𝑟 𝑛 = 2, 𝑛 = 3  etc. by 
Mathematical Induction.    

(11) 

2.1 𝑧 =  𝑥 +  𝑖𝑦  
| 𝑥 +  𝑖𝑦 − 1| = | 𝑥 +  𝑖𝑦|    
3 cases: 
−𝑥 − 𝑖𝑦 + 1 = −𝑥 −  𝑖𝑦    

∴ 1 = 0  
Invalid   
Or 
−𝑥 − 𝑖𝑦 + 1 = 𝑥 +  𝑖𝑦  
∴ −2𝑥 − 2𝑖𝑦 + 1 = 0  
∴ −2(𝑥 + 𝑖𝑦) = −1     
∴ 𝑧 = −

1

−2
=

1

2
    

∴ 𝑹𝒆(𝒛) =
𝟏

𝟐
    

 
Or 
𝑥 + 𝑖𝑦 − 1 = 𝑥 +  𝑖𝑦    

∴ −1 = 0  
Invalid    

(6) 
Could also do:                            

𝐼𝑓 |𝑧 –  1|  =  |𝑧|  

𝑡ℎ𝑒𝑛 (𝑧 –  1)
2

 =  𝑧2  
𝑧2 − 2𝑧 + 1 = 𝑧2  
∴ −2𝑧 + 1 = 0  

∴ 𝑧 =
−1

−2
=

1

2
  

 

2.2 (2 +  𝑖)4  
(2 + 𝑖)2(2 + 𝑖)2    
(4 + 4𝑖 + 𝑖2)(4 + 4𝑖 + 𝑖2)    
(4 + 4𝑖 − 1)(4 + 4𝑖 − 1)    
(3 + 4𝑖)(3 + 4𝑖)    
(9 + 24𝑖 + 16𝑖2)    

(9 + 24𝑖 − 16)  
−7 + 24𝑖    marked 𝑎 and 𝑏 as implied if stop here. 

𝑎 = −7  𝑎𝑛𝑑 𝑏 = 24   


OR 

Use Pascal’s triangle  
1 

1 2 1 
1  3  3  1 

1    4   6   4   1 
= 24 + 4(2)3(𝑖) + 6(2)2(𝑖)2 + 4(2)(𝑖)3 + 𝑖4  
= 16 + 32𝑖 + 24𝑖2 + 8 × 𝑖2 × 𝑖 + 𝑖2. 𝑖2  
= 16 + 32𝑖 − 24 − 8𝑖 + (−1 × −1)  
= 16 − 24 + 24𝑖 + 1   
= −7 + 24𝑖      
 

(5) 

2.3 𝑥2  –  4𝑖𝑥 +  5 =  0  

𝑥2  –  4𝑖𝑥 −  5𝑖2  =  0  
(𝑥 − 5𝑖)(𝑥 + 𝑖) = 0      
∴   𝑥 = 5𝑖   𝑜𝑟 𝑥 = −𝑖      
OR  
Formula 

(4) 

3.1.1 𝑓(𝑥) = 𝑒𝑥−1, 𝑥 ∈ 𝑅     𝑔(𝑥) = √𝑥 − 1  
𝑓:   𝑦 = 𝑒𝑥−1  
For inverse  
𝑥 = 𝑒𝑦−1    
ln 𝑥 = 𝑦 − 1     
𝑓−1(𝑥) = ln 𝑥 + 1     

(3) 
3.1.2 𝑓(𝑔(3)) = 𝑒√3−1−1   

= 𝑒√2−1   
= 1,51  

(3) 
3.1.3 𝑓(𝑔(𝑥)) = 𝑒√𝑥−1−1  

From g : 𝑥 − 1 ≥ 0   
Domain 
∴ 𝑥 ≥ 1    
Also 𝑔(𝑥) ≥ 0   

∴  𝑓(𝑔(𝑥)) ≥  𝑒0−1  

≥
1

𝑒
     

≥ 0,3678 …     
(4) 

3.2.1 log3 𝑥 + 2 log𝑥 3 = 3    
log 𝑥

log 3
+

2 log 3

log 𝑥
= 3    change of base 

× 𝑏𝑦 log 3 log 𝑥 
(log 𝑥) 2 + 2 (log 3) 2 = 3 log 3 log 𝑥   
(log 𝑥) 2 − 3 log 3 log 𝑥 + 2 (log 3) 2 =  0   
(log 𝑥 − 2 log 3)(log 𝑥 − log 3) = 0  
∴ log 𝑥 = 2 log 3     𝑜𝑟    log 𝑥 = log 3 
∴ log 𝑥 = log 32     𝑜𝑟    log 𝑥 = log 3   
∴ 𝑥 = 9   𝑜𝑟    𝑥 = 3 



(7) 

[OR ∴ 𝑥 = 102 log 3   𝑜𝑟    𝑥 = 10log 3] 

Or change log3 𝑥 to
1

log𝑥 3
  

and let log𝑥 3 = 𝑘  etc. 
 

3.2.2 ln(cos 𝑥 ) = −2          𝑥 ∈ (−2𝜋; 0)    
𝑒−2 = cos 𝑥 
 
𝑥 = ± cos−1(𝑒−2) + 2𝑛𝜋 𝑛 ∈ 𝑍  
𝑥 = ±1,435 + 2𝑛𝜋   
       for ±        value     2𝑛𝜋 
𝑥 = −1,435  𝑜𝑟  𝑥 = −4,848     

(6) 

4.1.1 Sketch 
 𝑓(𝑥) = ln 𝑥   
x-cut  
one additional point  
𝑒. 𝑔. (2; ln 2) = (2; 0,693) 𝑂𝑅 (𝑒; 1) 
shape and asymptote   

  𝑔(𝑥) = −
1

2
𝑥 + 4 

y-cut   
x-cut  
∴ One root since only one point of 
intersection 
 
 
 
 
 
 
 

(6) 
 

4.1.2 ln 𝑥 = 4 −
1

2
𝑥  

Solve for ℎ(𝑥) =  ln 𝑥 − (4 −
1

2
𝑥) = 0   

ℎ(𝑥) =  ln 𝑥 − 4 +
1

2
𝑥 = 0   

[OR   ℎ(𝑥) = 4 −
1

2
𝑥 − ln 𝑥 = 0  ] 

𝑓′(𝑥) =
1

𝑥
+

1

2
    

Choose starting value 𝑥1 = 4     [𝑜𝑟 5]  

   𝑥𝑟+1 = 𝑥𝑟 −
ln 𝑥𝑟−4+

1

2
(𝑥𝑟)

1

𝑥𝑟
+

1

2

       

 
𝑥2 = 4,818274   
𝑥3 = 4,844346 …  
𝑥4 = 4,844366 … 
𝑥 = 4,84437  
   

If chose 𝑥1 = 5 
𝑥2 = 4,84366012..   
𝑥3 = 4,84436686 …   
𝑥 = 4,84437   

 (9) 

4.2. ℎ(𝑥) = |𝑒𝑥 − 1|  
Critical value where 𝑒𝑥 − 1 = 0 
∴ 𝑒𝑥 = 1  
i.e. 𝑥 = 0 
asymptote 𝑦 = 1  
shape on left   
shape on right   
point of intercept with asymptote: 

𝑒𝑥 − 1 = 1    
∴ 𝑒𝑥 = 2

∴ 𝑥 = ln 2 ≈ 0,69



























(7) 

5. 

𝑓(𝑥) = {

𝑎

𝑥
𝑥 ≥ 1

    
𝑏 − 2𝑥 𝑥 < 1

}  

If Diff then continuous at 𝑥 = 1 
lim𝑥→1− 𝑓(𝑥) = lim𝑥→1+ 𝑓(𝑥)   
 
∴ 𝑏 − 2(1) =

𝑎

1
    

𝑎 = 𝑏(1) − 2(1)2      

∴   𝑎 = 𝑏 − 2 .. (1)     

And

𝑑

𝑑𝑥
(𝑎𝑥−1) = −𝑎𝑥−2



lim𝑥→1− 𝑓′(𝑥) = lim𝑥→1+ 𝑓′(𝑥)

lim𝑥→1−(−2) = lim𝑥→1+ (−
𝑎

𝑥2
)

∴ −2 = −𝑎

∴ 𝑎 = 2    𝑎𝑛𝑑 𝑏 = 4

 
(8) 

6.1 
 𝑓(𝑥) =  

1

√3𝑥−2
 

𝑓′(𝑥) = limℎ→0

1

√3(𝑥+ℎ)−2
−

1

√3𝑥−2

ℎ
     subs 

 

(0,69;1) 

1 

4 

8 

(2; ln 2)  



= limℎ→0 (
1

√3(𝑥+ℎ)−2
−

1

√3𝑥−2
) ×

1

ℎ
  

 

add over LCD    
√3𝑥−2−√3(𝑥+ℎ)−2

√3(𝑥+ℎ)−2×.√3𝑥−2
   

 
Multiply by conjugate  

√3𝑥−2−√3(𝑥+ℎ)−2

√3(𝑥+ℎ)−2.√3𝑥−2
×

√3𝑥−2+√3(𝑥+ℎ)−2

√3𝑥−2+√3(𝑥+ℎ)−2
   

 
(3𝑥−2)−(3𝑥+3ℎ−2)

√3(𝑥+ℎ)−2.√3𝑥−2×(√3𝑥−2+√3(𝑥+ℎ)−2)
    

−3ℎ

(3𝑥−2)√3(𝑥+ℎ)−2+(3𝑥+3ℎ−2)√3𝑥−2
    

 

limℎ→0
1

ℎ
×

−3ℎ

(3𝑥−2)√3(𝑥+ℎ)−2+(3𝑥+3ℎ−2)√3𝑥−2
   

=
−3

(3𝑥−2)√3𝑥−2+(3𝑥−2)√3𝑥−2 
    

=
3

2(3𝑥−2)√3𝑥−2 
    

=
−3

2(3𝑥−2)
3

2 

    

(8) 

 
6.2.1   𝑓(𝑥) = 

sin2 3𝑥

𝑥2   

 

𝑓′(𝑥) =
𝑥2.2 sin 3𝑥.cos 3𝑥.3−sin2 3𝑥.2𝑥

𝑥4
  

                                                     
 denominator 

=
6𝑥2 sin 3𝑥 . cos 3𝑥 − 2𝑥. sin2 3𝑥

𝑥4
 

           tidy up. 
OR 

  𝑓(𝑥) = sin2 3𝑥 . 𝑥−2  

𝑓′(𝑥)  
= 𝑥−2 × 2 sin 3𝑥 . cos 3𝑥 . 3 + sin2 3𝑥 × −2𝑥−3  
 

=
6 sin 3𝑥 . cos 3𝑥

𝑥2
−

2 sin2 3𝑥

𝑥3
 

(8) 
 

6.2.2 𝐷𝑥[𝑥√𝑥2 − 1]  

= 𝐷𝑥[𝑥(𝑥2 − 1)
1

2  ]   

= 𝑥.
1

2
(𝑥2 − 1)−

1
2. 2𝑥 + (𝑥2 − 1)

1
2. 1 

                                                      

=
𝑥2

(𝑥2 − 1)
1
2

+ (𝑥2 − 1)
1
2 

                             

(8) 

6.2.3 𝑑

𝑑𝑥
(5𝑒3𝑥)  

= 5𝑒3𝑥. 3  
= 15𝑒3𝑥     

(2) 

6.2.4 𝑑

𝑑𝑥
(log4 𝑥)  

=
𝑑

𝑑𝑥
(

ln 𝑥

ln 4
)    

=
1

ln 4 
×

1

𝑥
  

=
1

(ln 4)𝑥
     

(2) 
6.2.5 𝑦 = 𝑒𝑥.cos 𝑥   

 
𝑑𝑦

𝑑𝑥
= 𝑒𝑥.cos 𝑥(𝑥(− sin 𝑥) + cos 𝑥. (1))  

                                              
𝑑𝑦

𝑑𝑥
= 𝑒𝑥.cos 𝑥(−𝑥 sin 𝑥 + cos 𝑥)    

(6) 
 

6.3  2 2xy y   

𝑥. 2𝑦.
𝑑𝑦

𝑑𝑥
+ 𝑦2. 1 = 2.

𝑑𝑦

𝑑𝑥
  

                              

(2𝑥𝑦 − 2).
𝑑𝑦

𝑑𝑥
= −𝑦2     

 
𝑑𝑦

𝑑𝑥
= −

𝑦2

(2𝑥𝑦−2)
   OR  

𝑑𝑦

𝑑𝑥
=

𝑦2

(2−2𝑥𝑦)


(7) 

7.1  In Δ𝐴𝑇𝐶  
 
∴ 𝑢𝑠𝑖𝑛𝑔 𝑃𝑦𝑡ℎ𝑎𝑔𝑜𝑟𝑎𝑠  

𝐴𝐶 = √5 𝑟      triangle 
 

sin 2𝜃 = 2 sin 𝜃 . cos 𝜃  

= 2 ×
1𝑟

√5𝑟
×

2𝑟

√5 𝑟  
     

=
4

5
   

(5) 

7.2 𝐴𝑟𝑒𝑎 𝑐 = 𝑎𝑟𝑒𝑎 Δ𝐴𝑇𝐶 − 𝑎𝑟𝑒𝑎 𝑎 − 𝑎𝑟𝑒𝑎 𝑏 

 =
1

2
𝑏 × ℎ −

1

2
𝑎𝑏𝑠𝑖𝑛 𝐶 −

1

2
𝑟22𝜃 

𝑇𝑂̂𝐵 = 2𝜃     
 ∠ 𝑎𝑡 𝑐𝑒𝑛𝑡𝑟𝑒 = 2 × ∠ 𝑎𝑡 𝑐𝑖𝑟𝑐𝑢𝑚𝑓𝑒𝑟𝑒𝑛𝑐𝑒  
𝐴𝑟𝑒𝑎 𝑐  

 =
1

2
𝑟 × 2𝑟 −

1

2
𝑟2 sin(𝜋 − 2𝜃) −

1

2
𝑟22𝜃  

                                                         

= 𝑟2 −
1

2
𝑟2 sin 2𝜃 − 𝑟2𝜃  

                               

= 𝑟2 −
1

2
𝑟2 4

5
− 𝑟2𝜃    

= 𝑟2(1 −
4

10
− 𝜃)       or =

1

5
𝑟2(5 − 2 − 5𝜃) 

= 𝑟2(
3

5
− 𝜃)     

=
1

5
𝑟2(3 − 5𝜃)  

(9) 

7.3 𝐴𝑟𝑒𝑎 𝑐 = 42(
3

5
− 𝜃)  

𝜃 = tan−1 1

2
= 0,463647 …   in radians 

𝐴𝑟𝑒𝑎 𝑐 = 42 (
3

5
− 𝜃) = 2,18 𝑢𝑛𝑖𝑡𝑠2    

(2) 

2𝑟    √5𝑟    

1𝑟    

𝐴    

𝑇   𝐶    



8.1 𝑥 −intercept (1; 0)  

𝑦 −intercept (0; −
1

4
)     

(2) 
8.2.1 𝑓(𝑥) =

𝑥−1

(𝑥+2)2 =
𝐴

𝑥+2
+

𝐵

(𝑥+2)2  

𝑥−1

(𝑥+2)2 =
𝐴(𝑥+2)+𝐵

(𝑥+2)2    

𝑥 − 1 = 𝐴(𝑥 + 2) + 𝐵 
∴ 𝑥 − 1 = 𝐴𝑥 + 2𝐴 + 𝐵   
∴ 𝐴 = 1   

−1 = 2𝐴 + 𝐵 
∴ 𝐵 = −1 − 1 = −3   

𝑓(𝑥) =
1

𝑥+2
−

3

(𝑥+2)2   

(6) 
8.2.2 𝑓(𝑥) =

1

𝑥+2
−

3

(𝑥+2)2  

𝑓(𝑥) = (𝑥 + 2)−1 − 3(𝑥 + 2)−2     
𝑓′(𝑥) = −(𝑥 + 2)−2 + 6(𝑥 + 2)−3    
 
For 𝑓′(𝑥) = 0 

−1

(𝑥+2)2 +
6

(𝑥+2)3 = 0  

−1(𝑥+2)+6

(𝑥+2)3 = 0    

−𝑥 − 2 + 6 = 0    
∴ 4 = 𝑥     
 
OR  

𝑓(𝑥) =  
𝑥−1

(𝑥+2)2
  

𝑓′(𝑥) =  
(𝑥+2)2(1)−(𝑥−1)(2𝑥+4)

(𝑥+2)4
  

=
𝑥2+4𝑥+4−(2𝑥2+2𝑥−4)

(𝑥+2)4   

=
−𝑥2+2𝑥+8

(𝑥+2)4   

For  𝑓′(𝑥) = 0 
𝑥2 − 2𝑥 − 8 = 0  etc. 

 
OR product rule 

(6) 
8.2.3 𝑓(4) =   

4−1

(4+2)2   

𝑇. 𝑃. = (4;
1

12
)    

(2) 
 

8.3.1   lim𝑥→∞
𝑥−1

(𝑥+2)2 = lim𝑥→∞
𝑥−1

𝑥2+4𝑥+4
   

= lim𝑥→∞

𝑥

𝑥2−
1

𝑥2

𝑥2

𝑥2+
4𝑥

𝑥2+
4

𝑥2

   

= 0    
 (2) 

8.3.2 Asymptotes 𝑥 = −2  
∴    𝑦 = 0 𝑖𝑠 𝑎 ℎ𝑜𝑟𝑖𝑧𝑜𝑛𝑡𝑎𝑙 𝑎𝑠𝑦𝑚𝑝𝑡𝑜𝑡𝑒    

(2) 

8.4 See graph below 
9.1.1 ∫ (12𝑥3 −

2

𝑥2) 𝑑𝑥  

= ∫(12𝑥3 − 2𝑥−2)𝑑𝑥  

=
12𝑥4

4
−

2𝑥−1

−1
+ 𝑐    

                    

= 3𝑥4 +
2

𝑥
+ 𝑐     for c 

(5) 

9.1.2 ∫ sin 3𝑥 cos 2𝑥  𝑑𝑥  

= ∫
1

2
(sin(3𝑥 + 2𝑥) + sin(3𝑥 − 2𝑥)) 𝑑𝑥  

= ∫
1

2
(sin(5𝑥) + sin(𝑥)) 𝑑𝑥   

1

2
(−

cos 5𝑥 

5
− cos 𝑥) + 𝑐   

= −
cos 5𝑥 

10
−

cos 𝑥

2
+ 𝑐  

(6) 

9.1.3 By parts  

∫ 𝑥√2𝑥 + 9 𝑑𝑥  

∫ 𝑓. 𝑔′ 𝑑𝑥 = 𝑓𝑔 − ∫ 𝑔. 𝑓′ 𝑑𝑥 + 𝑐  
Let  

𝑓 = 𝑥           𝑔′ = (2𝑥 + 9)
1

2    

𝑓′ = 1            𝑔 = (2𝑥 + 9)
3

2 ×
2

3
×

1

2
   

𝑔 =
1

3
(2𝑥 + 9)

3
2 

𝐼 =
1

3
𝑥(2𝑥 + 9)

3

2 − ∫
1

3
(2𝑥 + 9)

3

2 × 1 𝑑𝑥 + 𝑐  

                                       

𝐼 =
1

3
𝑥(2𝑥 + 9)

3

2 −
1

3
(2𝑥 + 9)

5

2 ×
2

5
×

1

2
+ 𝑐  

                                                           

𝐼 =
1

3
𝑥(2𝑥 + 9)

3

2 −
1

15
(2𝑥 + 9)

5

2 + 𝑐  

                                                      
 (8) 

OR  
But question does not say “or otherwise”  

∫ 𝑥√2𝑥 + 9 𝑑𝑥  
Let 2𝑥 + 9 = 𝑢   

Then 𝑥 =
𝑢−9

2
   

Then 
𝑑𝑢

𝑑𝑥
= 2   

∴ 𝑑𝑥 =
𝑑𝑢

2
    

𝐼 = ∫
𝑢−9

2
× 𝑢

1

2 .
𝑑𝑢

2
    

𝐼 =
1

4
∫ 𝑢

1

2 (𝑢 − 9). 𝑑𝑢   

𝐼 =
1

4
∫ 𝑢

3

2 − 9𝑢
1

2 . 𝑑𝑢    

=
1

4
(𝑢

5

2 ×
2

5
− 9𝑢

3

2 ×
2

3
) + 𝑐     

=
1

10
(2𝑥 + 9)

5

2 −
3

2
(2𝑥 + 9)

3

2 + 𝑐   

 
 

9.2 𝑔(𝑥) = 4𝑥 + 20 and ℎ(𝑥) = (𝑥 − 3)(𝑥 + 5).  

4𝑥 + 20 − (𝑥2 + 2𝑥 − 15)    

= −𝑥2 + 2𝑥 + 35    



−𝑥2 + 2𝑥 + 35 = 0 

𝑥2 − 2𝑥 − 35 = 0  

𝑥 = 7  𝑜𝑟  𝑥 = −5  

∫ (−𝑥2 + 2𝑥 + 35)𝑑𝑥
7

−5
      

= 288 𝑢𝑛𝑖𝑡𝑠2   
(7) 

9.3. 
∫

12𝑥

√3𝑥2 + 1

𝑘

1

𝑑𝑥 = 24   

 
Let 𝑢 = 3𝑥2 + 1   
𝑑𝑢

𝑑𝑥
= 6𝑥    

𝑑𝑥 =
𝑑𝑢

6𝑥
  

 
 
 

∫
12𝑥

√3𝑥2+1
𝑑𝑥     

 

= ∫
12𝑥

𝑢
1
2

𝑑𝑢

6𝑥
    

 

∫ 2𝑢−
1

2𝑑𝑢    

= 2𝑢
1

2 × 2 + 𝑐  

= 4(3𝑥2 + 1)
1

2 + 𝑐  (OK if c not present)

 

∴ [4(3𝑥2 + 1)
1

2]1
𝑘 = 24   

4(3𝑘2 + 1)
1

2 − 4(3 + 1)
1

2 = 24   

4(3𝑘2 + 1)
1

2 − 4(4)
1

2 = 24  

4(3𝑘2 + 1)
1

2 − 8 = 24  

4(3𝑘2 + 1)
1

2 = 32  

(3𝑘2 + 1)
1

2 = 8   

3𝑘2 + 1 = 64  
3𝑘2 = 63  
𝑘2 = 21  

∴ 𝑘 = √21  
 
OR 
Let 𝑢 = 3𝑥2 + 1   
𝑑𝑢

𝑑𝑥
= 6𝑥    

𝑑𝑥 =
𝑑𝑢

6𝑥
  

Boundaries  
𝑢 = 3(1)2 + 1 = 4  
𝑢 = 3𝑘2 + 1       

∫
12𝑥

𝑢
1
2

×
3𝑘2+1

4
(

𝑑𝑢

6𝑥
)   = 24    

∫ (
2𝑑𝑢

𝑢
1
2

)
3𝑘2+1

4
 = 24        

∫ (2𝑢−
1

2𝑑𝑢)
3𝑘2+1

4
 = 24      

 

∴ [2𝑢
1

2 × 2]4
3𝑘2+1 = 24     

∴ [4𝑢
1

2]4
3𝑘2+1 = 24  

4(3𝑘2 + 1)
1

2 − 4(4)
1

2 = 24    

4(3𝑘2 + 1)
1

2 − 8 = 24  

4(3𝑘2 + 1)
1

2 = 32  

(3𝑘2 + 1)
1

2 = 8   

3𝑘2 + 1 = 64  
3𝑘2 = 63  
𝑘2 = 21  

∴ 𝑘 = √21  
(11) 

 

 

8.4 

Shape of left curve tending towards asymptotes   

Shape of right curve tending towards𝑥 = −2   

Asymptote 𝑥 = −2  

y-cut:   𝑦 = −
1

4
= −0,25   

x-cut:   𝑥 = 1   

Exaggerate the TP = (4;
1

12
)    

Curve on right tends towards the x-axis asymptote  

(7) 

 

 

 


